English

My Evaluation

1. T am proud of...
2. I think a real strength of my writing is...

3. Next time, I will focus on improving...

Some things you may consider in your evaluation...

handwriting spelling vocabulary choices structure
use of paragraphs introductory paragraph
use of fronted adverbials varied sentence starters
consistently accurate fense  use of colon formality

use of semicolon use of hyphenated words

varied sentence structures
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Maths

In the questions below, calculate the missing value. Remember to use your knowledge of
the formula for finding area and perimeter of squares, rectangles, triangles and
parallelograms. When given the length and width of a rectangle, you are able to find its
perimeter and area. Therefore, when given the area and the length, are you able to find

the width?
Square
Area = 18cm? 6cm 5
¥ Area = 81m?
?
12em 12mm

Perimeter = 32cm
Area = 60mm?

Square
?

Perimeter = 32cm

6m

Perimeter = 70cm
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Q1.

These two shapes have the same perimeter.

regular hexagon square

Not actual size
The length of each side of the hexagon is 8 centimetres.

Calculate the area of the square.

- |

Show ] \

your
method

—

cm?

Q2.

The diagram shows a shaded triangle inside a rectangle.

10cm

6cm Not actual
size

4cm

What is the area of the shaded triangle?
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—

Show
your
method

N |

2 marks

Q3.

Megan says,

‘If two rectangles have the same perimeter,
they must have the same area.’

Is she correct?
Circle Yes or No.

Yes / No

Explain how you know.

1 mark
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1. What impression do you get of the horse? Use evidence to
support your answer. 3 marks

Impression Evidence

1. How did the horse feel when the train passed? (3 marks)

2. The horse did not seem to enjoy being dressed. How can you tell
this?
Give two ways. 2 marks
1.
2.
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